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
 is the nominative subject from the neuter singular interrogative pronoun TIS, meaning “Who; What, Which?”  Then we have the third person singular present active indicative from the verb EIMI, meaning “to be: is.”

The present tense is an aoristic present, which regards the state of being as a fact.


The active voice indicates that speaking to a person produces the state of being something.


The indicative mood is an interrogative indicative, which is used in questions that can be answered by providing factual information.

This is followed by the predicate nominative from the neuter singular comparative adjective EUKOPOS, meaning “easy in our literature it is only used in comparison. In the NT always in the expression it is easier with the infinitive following Mt 9:5; Mk 2:9; Lk 5:23; with the accusative and infinitive following: Mt 19:24; Mk 10:25; Lk 16:17; 18:25.”
  Then we have the aorist active infinitive from the verb EIPON, which means “to say.”


The aorist tense is a constative aorist, which views the action in its entirety.


The active voice indicates that anyone can produce the action.


The infinitive is a substantival infinitive, functioning as the subject of a verb.
This is followed by the dative of indirect object from the masculine singular article and adjective PARALUTIKOS, meaning “to the paralytic.”

“Which is easier, to say to the paralytic,”
 is the third person plural present passive indicative from the verb APHIĒMI, which means “to be forgiven.”

The present tense is a descriptive present, describing what has now occurred.


The passive voice indicates that the man’s sins received the action.


The indicative mood is declarative of a simple statement of fact.

Then we have the possessive genitive from the second person singular personal pronoun SU plus the nominative subject from the feminine plural article and noun HAMARTIA, meaning “your sins.”

““Your sins are forgiven”;”
 is the coordinating conjunction Ē, meaning “or” plus the aorist active infinitive from the verb EIPON, which means “to say.”

The aorist tense is a constative aorist, which views the action in its entirety.


The active voice indicates that anyone can produce the action.


The infinitive is a substantival infinitive, functioning as the subject of a verb.

Then we have the second person singular present active imperative from the verb EGEIRW, which means “to rise up; to get up; to arise.”


The present tense is an aoristic, descriptive present, which describes a momentary action that is expected to take place right now.


The active voice indicates that the paralytic is expected to produce the action.


The imperative mood is a command.

With this we have the additive use of the conjunction KAI, meaning “and” plus the second person singular aorist active imperative from the verb AIRW, which means “to take up; to pick up.”


The aorist tense is a constative aorist, which views the action in its entirety.


The active voice indicates that the paralytic is expected to produce the action.


The imperative mood is a command.

This is followed by the accusative direct object from the masculine singular article and noun KRABATTOS, meaning “a bed, pallet, mat, stretcher, etc.”  With this we have the possessive genitive from the second person singular personal pronoun SU, meaning “your.”  Finally, we have the additive use of the conjunction KAI, meaning “and” plus the second person singular present active imperative from the verb PERIPATEW, which means “to walk.”

The present tense is an aoristic, descriptive present, which describes a momentary action that is expected to take place right now.


The active voice indicates that the paralytic is expected to produce the action.


The imperative mood is a command.

“or to say, “Get up, and pick up your pallet and walk”?”
Mk 2:9 corrected translation
“Which is easier, to say to the paralytic, “Your sins are forgiven”; or to say, “Get up, and pick up your pallet and walk”?”
Explanation:
1.  “Which is easier, to say to the paralytic,”

a.  Jesus continues His rhetorical questions to the scribes, who are thinking evil in their hearts against Him.  Jesus asks a question that sets up a contrast between two statements.  He asks the question: “Which of the two statements is easier to make?”  In effect, He is asking the scribes which of the two statements are easier, simpler, less complicated, or more important for Him to make.

b.  Either statement would hypothetically be directed at the paralytic, since the paralytic is the person involved as the recipient of either statement.

c.  The first statement (Your sins are forgiven) requires four words (both in the Greek and in the English).  The second statement (Get up, and pick up your pallet and walk) requires eight words (in the Greek), which is exactly twice as hard to say as the first statement.  So obviously the first statement (Your sins are forgiven) is the easier statement to make, and was the one used by our Lord.

2.   ““Your sins are forgiven”;”

a.  This the first of the two possible statements that Jesus could have made to the paralytic, and did make.

b.  Jesus made this statement based upon the fact that the man had faith in Jesus, and Jesus knew He would bear the punishment for the man’s sins.  Therefore, He had every right to forgive him.

c.  The present tense indicates that the man’s sins were forgiven the moment Jesus said this and that those sins continue to be forgiven forever.  It is a static fact.


d.  Notice that the man didn’t have to make an offering to the priests or doing anything else to atone for all his sins.  Jesus would do this for him.

3.  “or to say, “Get up, and pick up your pallet and walk”?”

a.  This clause gives us the second of the two possible statements by the Lord.  This is the longer and more difficult statement, since it involves three commands and actions required by the paralytic.  All three actions were actions that the paralytic had either never done or had not done in many years.  Not only would this be more difficult for Jesus to say, but also more difficult for the paralytic to execute than simply receiving forgiveness.

b.  The question is rhetorical.  Jesus doesn’t expect or require an answer, since both He and the scribes know the answer.  Telling the paralytic that his sins are forgiven is much easier to say, but also far more offensive to the legalism and antagonism of the scribes.

c.  Jesus will prove His right to pronounce the forgiveness of sins (the first statement) by commanding the second statement and affecting the instant and total healing of the paralytic.

4.  Commentators’ comments.


a.  “Since they wanted to ‘reason’ about things, He gave them something to ponder: Which is easier, to heal the man or to tell him he is forgiven?  Obviously, it is easier to say, ‘Your sins are forgiven!’ because nobody can prove whether or not the forgiveness really took place.”


b.  “The scribes expected a physical healing, but Jesus pronounced the man’s sins forgiven.  They probably thought that a pronouncement of forgiveness was easier than one of healing because healing was visible and immediately verifiable.”


c.  “Obviously it is easier to say, ‘Your sins are forgiven’ since no human can prove that such an invisible thing has occurred.”


d.  “Jesus does not make the contrast here between healing and forgiving, but between saying ‘be forgiven’ and ‘be healed’.   The two things would be coincident, and the difference therefore would be only between two ways of saying the same thing.”


e.  “Jesus’ use of a counter-question in situations of debate recurs in other narratives, and appears to be characteristic of His response to conflict.  It is important to appreciate its significance here.  The scribes might think that a declaration of forgiveness is easier than one of healing, the efficacy of which would be open to immediate verification.  By use of a counter-question Jesus challenges their facile [shallow, trite, flippant] assumption that He has acted irresponsibly as a dispenser of cheap grace.  It is the declaration of forgiveness which is the more essential and the more difficult of the two actions.”


f.  “Here we have an a fortiori argument: if the more ‘difficult’ can be achieved, this guarantees the validity of the claim to do the ‘easier’.  The answer to Jesus’ rhetorical question must therefore be that it is easier to say ‘Your sins are forgiven’, since that is the point to be proved (v. 10), and it will be proved by the successful utterance of the ‘more difficult’ command to the paralytic to get up and go.  To regard the forgiveness of sins as ‘easier’ than healing a medical complaint may seem oddly out of keeping with biblical perspectives, but the argument does not focus on the inherent value of the acts themselves, but on their force as proof to a skeptical audience.  A visible healing is ‘hard evidence’, whereas a merely verbal claim to forgive sins invites skepticism.  To tell a paralyzed man to get up and walk exposes the speaker to ridicule if it is not successful; how can a claim to have forgiven sins be falsified?”
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